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Unit 6 - Trigonometry & The Unit Circle Review Sheet

1. Complete the following for each part below:

i.  Convert the following radian (if needed) measures to degrees H
ii.  Draw the angles in standard position on the axes provided Stbtm n,
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ui.  State and draw a coterminal angle for each but, t’ﬁCOVel”lhg
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2. Indicate whether each of the functions is odd, even, or neither. Justify your

—— DO IT NOW.
a. f(x)=-2x*>+3
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c. h(x)=/F(x)+2x
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3. Solve the equation v2x — + x = 5 algebralcally, and justify the solution set.
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4. IfcosA = ——andtanA > 0, find:
a. sin A b. tan A c. Ato the nearest degree
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5. Ifthe terminal side of 6, in standard position, passes through the point (12, —5), what is the numerical
value of: -
a. sin@ b. cos B c. cotf s )
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6. Simplify the following completely: aSS—————
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7. Find the exact value of tan% ~ CO8 g + sin g
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Express, in terms of i, the roots of the following function y= ixz +3
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9. Solve for all values of x: == — 2 = 24
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10. Given the graph below, justify why seca = i
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11. Given the graph of the function shown,

rate of change on the interval [-2, -1].
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13. Show algebraically that x = 6 is a root of the function f(x) = x® — 3x% — 20x + 12.
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14. Given that sinf = —0.3, and 0 is an angle in quadrant 111, determine the value of coté.
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15. Given that i is the imaginary unit, SImphfy the following expression co rletely 3i%(2xi — 4)?
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